a.   Let X1 = # of $ spent on newspaper advertising
            X2 = # of $ spent on radio advertising
Therefore:
Max Z = 50X1 +   80X2
s.t.
            1X1   +   0X2  >  250    (Minimum spending ($) for newspaper ads)
            0X1  +   1X2  >  250    (Minimum spending ($) for radio ads)
            1X1  +   1X2  <  1000   (Maximum budget ($) available)
            1X1   -    2X2  >   0        (Spending ratio requirement)  (1X1  >  2X2 )
                     X1, X2  >    0       (Non-negativity restriction)

